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193 Sliding inside a hoop

A small 0.10kg object slides around the inside a frictionless vertical
hoop with radius 0.25m. (131Sp2023)

a) The speed of the object at the top of the hoop is 2.0m/s.
Determine the normal force exerted by the hoop on the object
at the top of the loop.

b) The object reaches the bottom of the hoop with speed
3.71m/s. Determine the normal force exerted by the hoop X &
on the object at the bottom of the loop. o .

c) Determine the minimum speed at the top of the loop so that the object stays on the
inside surface of the loop.
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